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1. Question No. 1 is compulsory.

2. Answer requisite mentioned questions from Question 2 and Question 3.

Question 1 ( 10 Marks)

Read the following paragraph and answer the Questions given Below (Any 2 each 5

marks= 10 Marks)

Introduction

Infrastructure sector is a key driver for the Indian economy. The sector is highly
responsible for propelling India’s overall development and enjoys intense focus from
Government for initiating policies that would ensure time-bound creation of world class
infrastructure in the country. Infrastructure sector includes power, bridges, dams, roads
and urban infrastructure development. In 2018, India ranked 44th out of 167 countries
in World Bank's Logistics Performance Index (LPI) 2018.

Investments

India has a requirement of investment worth Rs 50 trillion (US$ 777.73 billion) in
infrastructure by 2022 to have sustainable development in the country. India is
witnessing significant interest from international investors in the infrastructure space.
Some key investments in the sector are listed below.

o Private equity and venture capital (PE/VC) investments in the infrastructure sector

reached US$ 1,827 million during January-November 2018

e Indian infrastructure sector witnessed 91 M&A deals worth US$ 5.4 billion in 2017
Government Initiatives

The Government of India is expected to invest highly in the infrastructure sector, mainly
highways, renewable energy and urban transport.

The Government of India is taking every possible initiative to boost the infrastructure
sector. Some of the steps taken in the recent past are being discussed hereafter.

e Announcements in Union Budget 2018-19:

e Massive push to the infrastructure sector by allocating Rs 5.97 lakh crore
(US$ 92.22 billion) for the sector.

o Railways received the highest ever budgetary allocation of Rs 1.48 trillion
(US$ 22.86 billion).

e Rs 16,000 crore (US$2.47 billion) towards Sahaj Bijli Har Ghar Yojana
(Saubhagya) scheme. The scheme aims to achieve universal household
electrification in the country.
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Rs 4,200 crore (US$ 648.75 million) to increase capacity of Green Energy
Corridor Project along with other wind and solar power projects.

Allocation of Rs 10,000 crore (US$ 1.55 billion) to boost telecom
infrastructure.

¢ A new committee to lay down standards for metro rail systems was approved in
June 2018. As of August 2018, 22 metro rail projects are ongoing or are under
construction.

e Rs 2.05 lakh crore (US$ 31.81 billion) will be invested in the smart cities mission.
All 100 cities have been selected as of June 2018.

o The Government of India is working to ensure a good living habitat for the poor in
the country and has launched new flagship urban mission, the Pradhan Mantri
Awas Yojana (Urban). In May 2018, construction of additional 150,000 affordable

houses was sanctioned under Pradhan Mantri Awas Yojana (PMAY), Urban.
Achievements by GOI:

The total national highways length increased to 122,434 kms in FY18 from
92,851 kms in FY14.

India’s rank jumped to 24 in 2018 from 137 in 2014 on World Bank’s Ease of
doing business - "Getting Electricity" ranking.

Energy deficit reduced to 0.7 per cent in FY18 from 4.2 per centin FY14.

Number of airports has increased to 102 in 2018.

Questions:

a. According to you, why the India’s ranking improved to 44th out of 167 countries
in World Bank's Logistics Performance Index (LPI) in 2018.

b. What are the reason for reduction in Energy deficit to 0.7 per cent in FY18 from
4.2 per centin FY14?

c. Why there is massive push given to the infrastructure sector by allocating US$
92.22 billion?

d. Why emphasis given to smart cities by Government?

Question 2. Answer any TWO (2x10 = 20 Marks)

a.

A company with a cost of capital of 14% is considering TWO Project-1 and Project-2. The
details pertaining to these projects are given below:-

Particulars Project-1 Mini Project-2 Solar
Thermal Power Plant | Power Plant

Initial Investment (Rs.) 18,000,000 16,000,000

Cash Inflows (Rs.)

Year 1 4,000,000 10,000,000

Year 2 5,000,000 9,000,000

Year 3 7,000,000 4,000,000

Year 4 10,000,000 3,000,000

Year 5 11,000,000 2,000,000

Select the most appropriate project based on Payback Period, Discounted

Payback, NPV and Profitability Index methods.
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b.

Prepare a detailed project report for a Project of Your Choice from the following sector
or any other sector: Mumbai or Delhi International Airport under PPP, Bandra- Worli Sea
Link Project, Waste management Project in Mumbai City, Mumbai Metro Rail Network
Project, Delhi- Gurgaon Expressway Project.

c. Explain Risk Management Process with risk response measures in detail. What are the

types of Risks in Project Financing?
Question 3. Answer any FOUR (4 x 5 =20 Marks)

a. Explain the Technological appraisal of the Project. Explain with suitable example.

b. Whatis SPV (Special Purpose Vehicle)? What is the need of SPV in Project Finance?

c. Explain the Social Cost benefit analysis for the project taking a typical new railway
project or a dam project.

d. Explain Concessionary Financing instruments?

e. Following data available about actual sales quantities for 9 years:

Year 1 2 3 4 5 6 7 8 9

Sales (Rs. | 46 44 40 45 52 66 72 82 79

‘000)
Find the forecast for year 10 using ‘TWO YEARS’ as well as ‘THREE YEARS’ moving
average. Which of the two forecast is more reliable on the basis of ‘Mean Squared Error’
(MSE) criterion?

f.  Explain Sensitivity Analysis using Tornado Diagram.

END
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